The City Sehool

Unified Mid-Year Examinations

2018 - 2019
Class 9 — iy
SCHOOL NAME
INDEX NUMBER DATE
CHEMISTRY 5070/12
Paper 1 Multiple Choice 1 hour

Additional Materials: Multiple Choice Answer Sheet
Soft Pencil
Soft clean eraser

READ THESE INSTRUCTIONS FIRST

Write in soft pencil.
Do not use paper clips, glue or correction fluid.
Write your School name, Index number and Date in the spaces provided.

There are thirty questions on this paper. Answer all questions. For each question there are four
possible answers A, B, C and D.

Choose the one you consider correct and record your choice in pencil on the separate Answer Sheet.
Read the instructions on the Answer Sheet very carefully.

Each correct answer will score one mark. A mark will not be deducted for a wrong answer.

Any rough working should be done in this booklet.

A copy of Periodic Table is printed on page 12
Electronic calculators may be used.

Invigilated By: Checked By: " Marks Tallied By:

This document consists of 10 printed pages and 2 blank pages.

Fhe ‘Cily Yelioof/ Unified Mid-Year Examinations, December 2018 / Chemistry / Paper 1/ Class 9 Page 1 of 12

Scanned by CamScanner



1  In which changes do the particles move further apart?

A WandX

gas

B Wandz

w X
= liquid = solid
Y Z

C XandY

D YandZ

2 Which electronic configurations represent three metallic elements in the same period
of the Periodic Table?

element1 | element2 | element 3
A 2,8,7 2,8,8 2,81
B 2,1 2,81 2,881
Cc 2,2 2,3 2,4
D 2,81 2,82 2,8,3

3 One of the instructions for an experiment reads as follows.

Approximately add 50 cm® of acid. What is the best piece of apparatus to use?

A

B
C
D

a burette

a conical flask

a measuring cylinder

a pipette

4 The diagram shows part of a thermometer.

L"Sl

|

Illll

-

30

What is the reading on the thermometer?

A 30.2

B 303 C 317

D 318
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D

40

A student needs to measure four different volumes of a solution accurately. The
volumes are 10 cm?, 25 cm?, 50 cm® and 60 cm>. The apparatus available includes a 25
cm® pipette. Which volumes could be measured using this pipette?
A 10 cm®and 25 cm?
B 25cm’and 50 cm?
C 25cm’only
D 50cm’and 60 cm®
Which part of an atom has a relative mass of 1 and a relative charge of 0?
A electron
B neutron
C nucleus
D proton
An aluminium atom has a nucleon number of 27 and a proton number of 13.
How many neutrons does this aluminium atom contain?
A 13 B 14 c 27
Which statement explains why isotopes of the same element have the same chemical
properties?
They have a different number of neutrons in the nucleus.
B They have the same number of neutrons in the nucleus.
C They have the same number of outer shell electrons.
D They have the same number of protons as neutrons.
Which of the following could be a transition element?
melting o electrical
density in
inti colour conductor
p0|°nt in g/ cm’
C
A 114 4.9 purple no
B 659 2.7 grey yes
C 1677 4.5 grey yes
D 3727 23 black yes
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10 Part of the Periodic Table is shown. Which element is a soft solid that reacts violently
with cold water?

A
B
C
D
11 Which process provides the best evidence for the particle theory of matter?
A dehydration B diffusion C filtration D neutralization

12 An element has the following properties.

e |t forms colored compounds.
e [tacts as a catalyst.
e |t melts at 1539 °C.

In which part of the Periodic Table is the element found?

A Groupl

B Group VIl

C Group Vil

D transition elements

13 Impurities change the melting and boiling points of substances. Sodium chloride is
added to a sample of pure water. How does the addition of sodium chloride affect the
melting point and boiling point of the water?

melting point boiling point
A increases increases
B increases decreases
C decreases increases
D decreases decreases
Ahe ‘City Sehiond | Unified Mid-Year Examinations, December 2018 / Chemistry / Paper 1/ Class 9 Page 4 of 12

Scanned by CamScanner



14 Which row shows the correct number of protons and electrons in the ion of an element
in Group |l of the Periodic Table?

number of number of
protons electrons
A 9 10
B 12 10
o] 14 14
D 16 18

15 Which element is sodium?

melting pointin °C | electrical conduction | density in g/cm®
A 1535 good 7.86
B 1083 good 8.92
c 113 poor 2.07
D 98 good 0.97

16 Small crystals of purple KMnO, (M, = 158) and orange K,Cr,0; (M, = 294) were placed at
the centres of separate petri dishes filled with agar jelly. They were left to stand under
the same physical conditions.

After some time, the colour of each substance had spread out as shown.

dish 1 dish 2

KMnOs ch r207

The lengths of the arrows indicate the relative distances travelled by particles of each
substance.

Which statement is correct?

A Diffusion is faster in dish 1 because the mass of the particles is greater.

B Diffusion is faster in dish 2 because the mass of the particles is greater.

C Diffusion is slower in dish 1 because the mass of the particles is smaller.
D

Diffusion is slower in dish 2 because the mass of the particles is greater.
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17 Caesium, Cs, is an element in Group | of the Periodic Table. Which statements about
Caesium are true?

1 Caesium conducts electricity both when solid and when molten.
2 Caesium reacts explosively with water.
3 Caesium reacts with water and forms a solution of pH < 7.

A 1and2only B 1and3only C 2and3only D 1,2and3
18 Which particle is found in iodine vapour?
A B |- C 1" D I2

19 The diagram shows how the arrangement of particles changes when a substance
changes state.

_ . O 0
O

Which change of state is shown?
A boiling
B condensation
C evaporation
D sublimation
20 Ethylamine gas, C;HsNH;, and hydrogen chloride gas, HCI, react together to form a

white solid, ethylamine hydrochloride. At which position in the tube would a ring of
solid white ethylamine hydrochloride form?

A B cC D

\&\\\Q/

@ &Y
/ \

cotton wool soaked cotton wool soaked
in ethylamine solution in hydrochloric acid

AN
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21 Astudent put 25.0 cm® of dilute hydrochloric acid into a conical flask. The student

added 2.5 g of solid sodium carbonate and measured the change in temperature of the
mixture.

Which apparatus does the student need to use to obtain the most accurate results?

balance, measuring cylinder, thermometer
balance, pipette, stopwatch

balance, pipette, thermometer

O 0O m >

burette, pipette, thermometer

22 Which statement about the boxes P, Qand R is correct?

AU NNV
* f oo b | | g o

P Q R

Box P contains two compounds and box R contains two elements.

A

B Box P contains two elements and box Q contains a mixture.

C Box P contains two elements and box Q contains one compound.
D

Box Q contains two compounds and box R contains a mixture.

23 The number of particles in atoms W, X, Y and Z are shown.

protons | electrons| neutrons
w 6 6 6
X 6 6 7
Y 7 7 7
Z 7 7 8

Which statement is correct?

A W and X are isotopes of carbon.

B XandY are isotopes of nitrogen.
C X has a mass number of 12.
D Zhas an atomic number of 8.
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24 The positions of four elements are shown on the outline of part of the Periodic Table.
Which element is a solid non-metal at r.t.p.?

25 Astatine is an element in Group VI of the Periodic Table.

Astatine is ...... 1...... reactive than iodine.

The melting point of astatine is ...... 2...... than the melting point of iodine.

Astatine is ...... 3...... in colour than bromine.

Which words complete gaps 1, 2 and 3?

1 2 3
A less higher darker
B less lower lighter
C more higher darker
D more lower lighter

26 Why is argon gas used to fill electric lamps?

A It conducts electricity.

It glows when heated.

B
C It is less dense than air.
D

It is not reactive.

27 The diagram shows the arrangement of electrons in the atoms of four different

elements. Which is the least reactive of the four elements?

A
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28 The symbols for two ions are shown.

19 -

cl

17

Which statement is correct?

39 +

19

The chloride ion contains more electrons than the potassium ion.

O 6 ™

The potassium ion contains more neutrons than the chloride ion.
The two ions contain the same number of electrons as each other.

The two ions contain the same number of protons as each other.

29 Which statement about the elements in the Periodic Table is correct?

A Allthe elements in the same group of the Periodic Table have the same

reactivity.

All the elements with four electrons in their outer shells are metals.

An element in Group Il of the Periodic Table would form an ion with a 2— charge.

Elements in the same period of the Periodic Table have the same number of shells

of electrons.

30 Which substance in the table is the element iodine?

state at room electrical conductivity
temperature when molten

A liquid good

B liquid none

C solid good

D solid none
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